T O N ) L\
‘116,57 ’ \ \ / ( \\ / "y - A5 ' st 126-P7/10.2
17 405 ) 8 . ' '
u34 1134 _ s 1l pe-p7/15 1207
i 115 1
— | 13
11235 - 118,21 116,61 ke |1 H79 44
1812 1184 14 ‘113.6 116.2 .
: 13.40 162
'114.4 113.9 114.1
11789 m 11824 ~ HED 1157
. % g
/ . 9.42 1%04 N5.22 1144 7
48 115.6 ‘1211
d / 19,96 35 D - s 117.7 '118.4 o
; 18 ' Y14.5 113.8 s ,@ A
/ 2 117,72 4712 s, / N 156 y 1210 122
: Q) 1.3
11R31 115,05 /A 1164
(Sl
‘116.8
114.66 1 148152
. y / 4;? 1152
114.9 3 e '116.8
) ) 1178 .
11863 118.36 \ 117.00 139 v Hgo
/ 0,
83 / 5 1165 1171
#9185 /-114.4 / 121153
114,43 1184189
I 4,/
6-326/
5 RGH LA s 417.4
1 1 X 155 Lus+d 11511 3
32 | 1145
-l 117.3
'125.3 . 6.2
t 8 119 116.9°47.9
I 117.0 1180
126.24 /
, 69 119
13 / 18! 1 1179
' 150
122, 5 - /o 117,
/ 125, V2 6— a7 /o
“123, . 1182
1e3 6 0. '119.6
9.2
r N
m UI “ 6— . _ 4
S 121.3 .
<] o m
~ g - 28y 7/1V 26.2 1234 122.6 ‘122.6
i 1217 128, ' 127.2
® ® ® © © ] o2 a 1241 12 !
1% '
2 ] 24,6
"123,15 €9 g P =D - 3 ? 125,79 18. 1217 i 0 e 2 ) 1] SRRV
8 §- §. g §. §- L/ B 128, : . | ' |
-——e ] 4 ) '2 3 122.9
i F =S 3‘ - O s E 106.9 P82 951297 506 00 129 123 1231
s § 3 : ~ 0/ Y8 12224 : 12
2 =1 S S s g 126-32/7 "1#5.9 26 3 12p. 1300 '
/ Co 5 3 co c 3 (] festr "124.9, I g 126-387/13 1263 . '129.8 ‘1237 ‘1235 1236 12,
= N 25,53 12 1 181 126-27A13 , . 1296, o
- ' ] 2 : 128, 186.4 5 4.8
~ § 34 e N\ Tereltbuz 186—'519?/3 ‘1291 1292 1302 .,
° 24, 1235 _ A 2 L 4B41 - [N h J .
b 11 1249¢ — 126128K3 i : 1305 . .
/ o428 §. §. §. 5‘ §' o 4.1 4, o 21'69)'{' E) [ 15;'67_1:3 12 é?— f 128'13 128, '125.5 125.4 12-
/ 116. /' polbruk ﬁﬂ‘l 13 i [Ty 1 129.3 2
=] s 3 3 §3 AT Do s |_aies15p st R O z
/ ﬁ. E. EO ﬁ. ﬁ. -122.77 11482 Y 12 a2y PRV | mﬁ———_:arg?—_ rZ= 23 ‘1879 N A28 l131'1 1865;?%/0;? \I
11 3 153, ' 127.1 : 2 ' ' 129.0 B 129.0
/ o o ° ’ 1°d- E ’_/ 126-153y22 126-153 403 o v L3212 ot 2P0 1239t.?,22369,5asﬁ Hf:f \ g
55 = . 12 - ‘ SA . 129.0 . .
‘5 '5 1213 1 e i E 2zt 12 7 1282 E 129.2 129.0 - \
> = & 12 YA /e [/jegjﬁa,qgas*— ————————— =<V 180.3 130, 1238
S g g o 123.9 125.2 :I—-E—E?: —————————————— B g = = JQV 129, 129,3 -128,9 128,
= - 118.7: = bet. 127.K N ~ .
) o ) o 1oAR363 i 126.0 - 180"9 s 1787 156 b
= 3 = > 12gdy 2. h | 126153353 ? 1309 13 H2O 79 b
w @ O & 43 . ) E_________——_—:—_—_Ehp%i,—_—:—_—_—_—:_—_—_:=_—_—_:_—_—_ ] 1245 [ — 1T 129, Qd I 2
Y /Wy VAR Ay AN 2 S W W I I I | S 14 =17 4
g 8 3 ° © 1 119 R e N e — a | 127.61EF. 125_153/11F A P A7
N N 14966—123 pm T T b Ak e i55,43b FALE-J4S /15541
| 8 ﬁ 123.3 A 23, 1269 1263 1278 128, - / 129.8 1294 3
1 S' B' ‘1233 . 15 200 12 OIES) 128 m5 129.2 %
6.0 g B‘ B‘ 1 ' 1 135.6 1260 o 1269 127 1 o 120.2
§ § 120, /13 759.2
Q. Q Q § 3 '120.6 24) A JZ/ 129 28.8 . 129.4
G ® O o 1244 55~126-153/41 12¢ L - 08 X% . L
g — 1262 T =7 (w
8 8 8 8 ; 12, 184.0 186 8 125 6 ‘.4 186_\. .3,/30 ‘130 42
= = = o 121 - i e ‘126.8 128.5 ' 7 R
8 8 1 257 126.8 1270 tEEE— - 9 ; 8 q
== 3 ] — ‘12 1216008, - - 1280 178, 129.9 ) ‘ D
ﬁ g g g “ e < 1242 \_,(_"‘ﬂ./?.L/ #87.5 12 306 . ' p= o)
24 45 AT : 130.2 2
3 124)2 127.2 126-£33/11)11 - : 0 125.4
' 3/11,10 | > 1906 .5 . 130,
bg———————————————— S ——————————— 2 : 30, g
p m m m 1235 123. 1252 1 S 106.7 lz6s 128.3 1 & 7 112 4 !
o o (@] (@] 1731 1241 p 1787 120.5 < C 13D 30, 7@?
r ~ r r ’ 186_153/48 3 126, 130, //190 13, |\ 131' 126-15: 3 \ \ \
1238 [ 55 f 2L ' | / Ll 773,
128, ~
L 4, 7 . 129, 31, 1.8
. 12 . A 128.9 NSO _ 5 1 . ; 0.4 _
PP ¥36-63/9 | 1 s \\Y it 3 1383 o,
\ S, 126-15. 1308~ A\ f '133.2 38.3
25) 1254 pe7s arking pes. Ny \?:; 131.3 ( ¥ [38.3
\\\ . - 1272 1278 -9%%2 ‘ a 130.0 \\ 195 12 _
126, 1251 1258 12T g 268 126.2 ' 1 W\ AN AN 137 . 33,
p Lol 65 =i 1274 1272 27 — \ O 0.0 W X 1995 230
12P6.5 \ _ ———d 1L III III \\/\> 18\\6\-¢ y 8 153/ ag\z%? //,’/ 1 : ! 134.5
2 126.6 Of=mepr== ==, FeA=T _____ﬁ Sl f'i%l i . NN\ 1267153 é@ Re?
18643371 A8 7 f T, < N 4
s éng‘? %3/11/14 / < NED) . ~
7 1438, — ! Y < % . 26-153/ 134.7 6¢
L 1é6, I 12/'5_153/ — 1288\ 126 % 13?1 &) m 3'31,'0/ 325 1 =287 acail
= . 127 132, : IE.
27,56/1/3 s 126, 12 . e m N 343 1304 N 50, ;/8 0 2381\ j;ié EERE 3 126-154/3;7
=P ch. 1274 276 ) 1205 NP LTH 1356 i H 1
sm\CR 0. 1BRY 134> 1388396 L5 2
) 134 '132.8 N g d
1 126.0 120 9 p 1354 L -
ch ' ; EJQZ;E 128.3 128.2 130 130f | 7 4 139.7 133 126-154/31¢ ;
156, . £ 4
N A 126-64/10/12¢ 128.7 1294 33577 1 205" : (I U zs sy ,
; 9 T N 180.9 325 . 4 .
‘127.0 _{5;' & -129.8 130.8 126-153/11,1 13 132.9 5
' 1265 - .m ' Plabk. 131 132 13 m 12sp 9B 1551
9 2l |:| m% -9 123 LR35 2 ' A
2 | . C e
13 .2 Q3L 1317 /p [ v
124 126-153)%, Jiacd 1% |
e 1291 31.2 L I
L | LA L L L | 1 —154 /3,4 13 - -
oo - 7 rm ARAE 1 I hi30.9 13f o134, Ij,ﬁr él ’ T
' ’ . | . - 1 7 — g
1312 3 L Y0 A s Hiego 3 3°F 152 126-1 12653 o
o1 12 3 H mo— 313 134.3
1314 128311 126-153/11)16
,' I':—— — . e > 3'9[%271311.5 i G 4.7 ! - []14¢
131|5 / NN —153/43\ | [TFEA¥- "= =-mmmm - : . : 35735
1299 26-1353/43 . 1328 133RL 43T 3
letie (4] / h 126-153/44 YR 1831 n 1345
12646 / -124 S $1.2 N S,
#30.0 | ik\ AN 1337 p
1284 X {_ 1299 | Lighg e - 130\ [ 1h 1138
1 S ——— S — 1305 54t H H H H 543 :
- /12 XQ"/ = 126z 1269 3
asf, 1312 152 ~ 6-154/3)5 LI L AL LLLLILL LD
1281 - 129.9 ; 1335 126-46X1  126-344/3 , = olbruke
126-1350/ 7.6 1286 asf. 126-1 = 7371 1341 4343 1350 Jipolbruk
, I‘\ Le87E— T — I3 N/ | Bi331 \ 130.2 T i [ S— CITpotoruK I —
134, ] 1 | ] | ] | | 1 L 2 d..L4L_l_J__ Il |—| ] l 1 | ] | | |4b \- 358 ) 134.0 1338 '1']34,1 134.9 parking polbnuk I:_—_j I::_ I::
c6765/ o _____J1_______ T \\ \\ par‘k{’n * 126-344y/° '134.0 ?gf"zﬁf 4.7 186_344}2/1‘%}2 /10)1
— === \ !
[ _348 \ 2.4 33135%‘% _136.6
I L 1é§\ 3 \%\ \ 3‘34'1. _ __J:Eﬁ%]:,:[ﬁ?ﬁ—s ﬁ.}_fg
. oS5y 135.4 ) Iss1|
13%0 1343 5\ 13A LUl aes 71 polbruk
' fg 1537118 Zj i m\%s 1,19 AN ' 4\,35‘\ \ 3@1@6_ z;\13’5.5 35 1355 1537
- B & 8 mgsg‘?/l J ! 125 i AT —x
ba_? [% E} 131,5 132.8 134\.%\ 1376 S \/ 202
= ' 1335 A 1352 g \ paamlyASAdru biorudkoitkd26 =30 1
KoSTKa 1537 395 13 3N E g ZA N P —— 1 2. AL S r 1 138.1 __Ilp%@,.
’Y75 1516 ,”_3___:!;_3@5__1____ 1333 " 35 \\ 13§ e { 1_ —n tra——, a0 Chbp __—_1.
1267145 :&r_ o 1 7358 3 \\\\ [ 1389 138! 1 ‘
D, = LY o —
26- 3 1135.6 18é §7 /: / . y 13 1339 X400822 \ N\ 355 138.4 L 1e
2| 12 A , , | | | | {1359 \ IF& 33K F ¢
—] mg a5 L] ] 7 =P \\ T f/ 6
S48 S) ' Bee 1570 17.7 1576 1365 \\ - oot dop-27/ i
%k' EbSc /4 136, ' 1366 \ Fill %7 ibg7[1387 1347 1128
-57/6 S \ F 126
135, 126 - 1386 '138.9 3 26— \]\/ 37. Hitee-4
P6—-BAG /4 "3 2 o '138.6 1365 [T |z36.8 \ a} £ 1;
\ 1378P 35,8 o6-d7/ 352 5 12 piask lioe—mim/3\\ 5 3 H
135 ﬁg%m = ____ 13%barking 364 136.93%% 137.2037 a7 7. * \\ o(lor‘u/@"réJl H 138.7
l A Y 137, - I38&. g\J AN \ N\ IX &
3 : 6.9 Zh | I 37,7 \ 28, 85 \ H ||:_I
' ' 39X 138, \ \ H '
4 b7 o 7 Eloog 1360248 N 1325 1390, oo \ | I | E -
' by : ' T3 _ : | | : | 439, 89.6
138/ Sk 1 136.6 ] X4 126- 137.9 ' I' ,Jiééb SE/I 145/’) \ 12 Gi—\\:\\ e — )) uﬁﬁr > 39.5
6387113 - | - , L T N /7
¢ 138,31 Re B2 MG 1376 _ || I E o .3 39-4138.6 %3 g _C ‘LT_E_E Loizﬁc\qtof “ZLZZ\/:\\¥———_TPL-§W/
54 126-3R0F4 e IN: 32 ' 6 c RORT TR
£ 212 1 2Hl 572 1381 1385 ‘1405  126-
3 3 126-56/8 $ Ii; |§ . LTS & 1412
Q < 126
qQ | =
é ! 34.8 ‘ '——\1113/7'813 15§ ] " , 83}24 = j:tzr-tﬂ]i\\ 1.7 ?’f = 1 8\[]73‘ﬁL5
. O T == | 7 T ‘ '§\\\ I - ,. -_ .
! ey 1348 > 7 T[] |r R | 7P Dé Ta1.2 %/ Iz
1 *\J‘fU 3 1267 7?9/1 i [/ 1?36 | 333 é|3 f"é&—xwéja 4 én k 1 jéQ 142.2 1424 sF -
| 7D i) X 187 H‘?ﬁzﬁ\ﬂ 7140.4; U, 5 T\ Poteru g 1”" 14 d. ' L1411 “;Q
3 And s A~ A =z
—$o0/ ' i 1700\ 137.2 ] ruk 2 s = 140.9 I’“ . o (M 1 PEle$ss123 O 1423
3 %_l 12d—-13 f§“ 5“ —7hD. 40.1 | gl | m3r 126-32.
| S 635h/B hesli6g) 7 ere 851 [ Gk Zerani L AR 0 i / x
o ) Iﬁ?ﬁﬂq}] -:-:1:.'.1:1 8 = 'E W Kk é-5333/76c | ol o : . 1,2 S A\ ; 9, y
1 e e gt eI 5 AL e v\ L 1g6-28
4 = s < -
15 H—1p37.9 | 138, 1380 1 ﬁ’%%% ' 1 sls | X 126,@)@ _arval ] ]| 126-2B711 C
Rt i3] 13744376 9.5 IBF8 20 9 Q,' g JIG 126-3 { | 1496 | A3
2126-148/4) 393 9 o __;i_:_n/ 138, 1 1393 1394~ —— R T o ' "—F 1] /
e T 7 \1340 ' =57 FR 53— — ! cl 1402 '
r— s/ =T — ’}czhl-ﬁab_” o o 1 LT 1299170 1q 140 — 12— w1421
—_— 13 134,7 e L 36.6 TR N\ =132 155,01 == —_— o 1 0613337 { 126-287/2 )
; - 7 llort 139.8 140 P47,
/ 1336 ) —___F¥f 137.2 9.41 140.8 1 42 142,23 1hac
1340 13 38.3 138,34 6 139411393 140. - : 1408 1418 _ hbet W
— ; . 134, 1296 137.22 139.8 140,3 §-~-1_4_07“*/'—95 a y t 141, —_
: : %135, -136.235.8 ] Y T T = 1 ~~<
= ; 7 A 1348 135§ 19353 13 374> , 1402 140.4 _ 14'/ 2:411?’1214. . — _::::: - Z
; 1 1345 .. o Na72 ; ~ 140.7 14081555 4L === "=
€324 o) : 3 .0 = Park; _ 7 1411 ==
/53} < . Yanp o222 = e s 1414 j1416 141.8 q
P = KOS ticq == ' 49 14188
. ch. CH; -
132.9 I { qco ] { et O - 4 9~~“§, aﬂcjé/t' 1413 | 14l 7 ~==————_ - ] 1¢25-
i 125—41[5/1;1 J [ 3] = | — 7] o ot p B\ .
| m - 5-1p/1:2 . 4177 ] N ' ' > ] &
? '137'1I | o PAMS e 1 8??511%3;/11 LES,, % BT« | 141, 1416 an ohEL 1 % 1
1334 ' 2SHS%S; ,& 52
| TP3=T57 3 - < - p
133.3 Ll 14k 141 H Al —— 140, 141 185 gl
. | ﬁ 3 5 = o orlagso. + 4 9 =
I - '140.7 = S — ; L m
/ '137,||6 I 1%515,].?/1 > —1e5 -ﬁ/;g 411 125- 134 4. oy pas “
1344 i o Z 143
| N T An L
I TOOTEd 410541 _ - 141.8
W bu 3 M 125113 /5 — > i
6.3, 396 5
, 7{&' 1p5-38/12 Prer; A3
| 2.1 i
| 1K1
1 | | vy i
5—18/4% 1 I 1443 123 144.6
i -, 11 )
| o | e i ) =
-——h ] 137.8 m s ﬂn ! T _ — 1 I v
g ' L_ | 141}8 =B 14 28 14 54%:[ Cg
ﬁg , 3 144 257
1251 : 185-40114 1 73)3 H 7
- paiice pEAnY S g "G T
- _L2 €415 771 N —
- 1 ' 1412 mS
_____ -] ! 141.7 . |
TC\\\ 14:e§4w > '
o l 143.8
40/
125 L\i 0
‘14].6 . parking dsf, P\
l\: .
"1415 125-3 os |5 pa ) :,;‘ 11 /317
d I ka7 i 125-40/
. 14 _ % 185738 .
;i\ |15 bs R R AT / F
& AN 1254P5/4 parking é.sl r=---- %
Pa 38" 2 b | ) A
77 [ p P/ /455 1455 L L1 L A = a -
2, N bolbru
139 + . y polbruk polbruk
% parfihg - J o \__ ) ~ petruc A polorukc o pORTEE
p I N\ > il I | s ) / L1115§'_ 1743
3 14‘:'1' 425 142.8 142.9 O I
N ‘1419 142.1 125+ 128'9 1432 :_:_::::%———— 14311 (}EO_IEFU/( | (’T pO(b Uk ]
14350/ e ch. i I—
=== +£ (
185_\- ====—:—\'=:_[’_€J z t. bet. L J\
! — I . et
- PSR 6 I 143! H 71 dH ]
138 41Ps 12514y 148 i 143.4 437 /613
pe - g 5
st =Y 7)Y —_— o~ - P
gal \\142’-_1_ _____EEKO:S_EII;E’O O 1 k/ng—po(brdilf;@l 43, L
12 T1416 1434 || 1433
f | 143.2 | 135
142.0 1383 26 1438 143& 1436
|
| —)
1 Yz 17—
2 125-37/2)7 N
X I f% 144.7
1
g | — .
. ) T+ —ye
447 e
14&;4@ L1
1416 W43.1273.08 P 455
1420 /// | I (T4 I s_t+19,
/i 42,9 TIT\142% < N <\ e 145.3
/ !/ s | | | ‘E%) \ \ v '
Iy ! i \% 3 =
" |J} 41424 gs I| — A —|'|42.4 m I % \\‘_"
4L | Bl <! XY 1 ARN &
125413 L S | :_lL 125-27X21% , - 3 v\
1425~ s (%‘ NN % \
i I m Y \
V1 | TN 14365_57 .6 \ s
_§_|_ =% N D e e Jr_ \\% . \\
| 5 | ’f;{'_fbg‘t‘\' AN S GRS PPN
142.2 &1 x % % \\\\\ 14
125— g 0), E 142, J 125- \
| N ) A2
<18 w27 AN
QI 142 55 \\
; Do JA21 12536
142.0 42p | \ 1 28— 27 71T oy . /%25—36/4/1
| " g
\ 142 (4251 1p5-574/6 1L\ % m4
. — 1422 ch T2 '}:F \
1394 o TPMAZ T T - 20 & W31
o FTF0 125-878KK N\ 125-%78
‘1414 & H \ \
216 E 1431 34| %\
o\ \
745“ i \ \\\ A
7 ——
=t 26-—~=~ 47 T1aggaz8\\\
‘U’Er’ | | pl'ilxsk_-__\ - | \\(\
= A \plask. || &
'141.3 M5/ 4 L,ﬂ_ _____ +- —_-an.4g __AR
B | —— T 2T —— g2
/ ElN Lps———om = X%
1435 B =5 It \\
=h 7 £l ] _1428p 511426 M\
Q418 1419 1/ Eld JL————7 i | \
; Y, 7419 | 1424 T piask. I |
o 4 6 gl | oo \
= 7y it [ |
- (=] % ‘9/%21\4 gl I
e ~ 7 SN\ fapz | RS
i AN WPlask = 214de |jgpa AN
Ny 7| eee 1405 1425 \ - —1\ 1426
. /7 r\
1416 7, 1428 - = 1421
. 1423 ?m:r 24, _ 1 L_———
- 14), 141.28 — 142.1
r4}o4 }ﬁ/uy 1429 £ IZ’?;I
1430 Jpa0 Eh ' 1 1423
14 :
1424 ‘ : : g
Ly 1427 1455 7% toren bldond?32 | 4“8 oo
1431 142, Er 141.1 :
1426 1432 1432 7
i
142.8 1421 "
1421 1428 -
A5 142.7 1416 1418
1424 141.7
1ico - 1416, 1 1423
1416 1417 y 197 0 1416 1415 TS 1430
1o 1295747 1253472 , 1430
M 1412 42,
———“11‘2‘;—%—3-/—1— ————————————— 1429 \ JosF. 44
e TTTTeme——— 3 T \asf,
S Z 2 7/ — I OB s Cgos 1435 |3, \ - , -
L4087 L BREVEY iy ' ) 143 :
1406 143.4 142.9 142.9 ' LY YUY P Y Y PR 55 P O P P P 1 e ) 2 o B+ 144.1 B
‘1414 . , .;k 142.3 1428  45s_ S| -
e 125-98 125-99 125-64/ 14411 \ 144,514,
0.4 142.9 . A ol
125 1423 . Meo-157 \ 4 & s e
‘1496 142.7 1428 1425 125-10 \_‘i | 45,7 \\ S wEs \&L\/
185-95/, 5 & ‘1426 parking '| 144, 4 \ 12 }?
- 1434 I : B
; .9 139.5 '144.9 _ _7148 I' ; | 14{%8" ~10z/2 125-10
M Bo-sogs § 1361 Y 144 T My ! ) 4})14\ {o5-102/ &/
. 125-95415 \ 143 e | : Yeb o ' T450 142
\ 3\ ——V439 6 / Y1436 vot, O 2507, 43 oruk
409 1 ‘1416 T4 ) " / '
\g ‘.| 0 135 qpet ”» VEZERRY 1455 ot ’\\’ ) \ \%\;4
- . — 3 y
o = \ 0 125 3\\ 2 143.8;/ 1486 / W D 143.7 c” o 1443 1723
AR5 | o @ T \ 395 / / 1439 / 2. _———4435 _ 1439
35| m - —— | 1% =731 j / 1435 T jast 125-10a45
ml 3 5 TOT> ,—‘HE” 148.2 asypowy A / / \ . =S 1438
e Q pmd id - 4L | 1932 J142.9 / Zuzel ==
5 M / ren nasypo 1
F- rr| £ 8 I Teren > | e Jost:
> | = \ ' Te1426 | | e (1431 g0 1414
dd k| 2 |3 g | ; g1 1424 || z / Teren BOdOPRG. - 7] chpdtruk
= ;;, 9| = \I 1386 (143.4 1410 / ——T442 -
R 518 = g ‘ 7400 (\1 b \ 5 77l 1 /\
=, . : | .
g § : g 0 q \ 125-97 \ 927 3 ; \|ps_ 415 125-106 az 125-248
& 9 E 3 é’ 8 18?1;2:55/5 1e5-90 ' \ 28 ” \\._ﬂ ‘ = . e \(J \\ ‘\ 1441
o -] s e —— J 38.7 , Teren nasypowyd{te. _ | 4,
g s 2|29\ —— A BT 1413413 \ 125-108 | ~ 143y . 3.7 WA
€ Q@13 391 00— a4 ARy k) 1421 ‘433 0 WD~ \
Q o B L2agrithy 38.8 139.5140.4 14t 3 | 1433 L1 \ 2\
3 s g’ ﬂ 1390 _ 1,@%@@& ég’ﬂﬂh BN jT 34 14 l%ggm”-]"ﬂ 1419 I \ \
3 3 < : 1%?@33’1387?1 o7 ' f%.ej:—z}.o' Z‘:j Tt ’74 ' 195-p17 Y (143.3 2 AR
3 g E = 138 &3 1390 1425V 1406 e _— 1426 i \
g 1388 1384 ‘= 137.9 14020.8 , 143.7 - 1417 \
8 |0 1382 139.4 oren w bug 1415 . , 4 1 \ s
&0 ' 139882 _i4pp 1416 Pule==1 4 ' ¥ 25-s7 g\ |\ 142
§ *R = " 195 108" g140. \gpz—— 4 HenS 8\\ \‘es-e78d
2 g o ) N Wﬂ \W{"g‘o 138 1 9.8 jappir Il -140;42 e . E\ 1254081 \ 5 \\ S
: '138.4 140.1 -=140,7 142871412 125222 ) pl
;::;;E E :: = m :1 ?\ \\ 137.5 1381 ; Wos5-— 7 2l 12540 \\;\j_\\\ m ¥ 5 6\ \‘ % m | \ 1436 { >
”’71103?'6 a i N\ \1\37.% 137.8 1380 137.8 \' 3 = (&) \ o5 = \ 1%5_1_ 7Q\
dr.p Ty *. W\ \ bet '137.5 p 7409 H 123= ! = 3.3143.Y 125-262 = \
s : N \\\ \\ \\ . 4 1457 =83/ ==7434 S \ 1436 \ \m
' ! . . %3 Z g
2722 4373 B 37,8 1381 +3 (35 ) 1406 5 uk \:: %— \ Y\E < \‘
/9\_\1 | ‘137.4 JjB’T\ \ 140.8 185_88 1449 1436 43 ! -
1376 236,81 ' . \ 1383 \1ne leoa | 12795
AN /4




